
2

ref qty part no description
1 4 49449 1" Plug
2 16 47189 1/4" Nylock Hex Nut
3 10 43088 Small Washer
4 1 47141 1/4" Nylon Wing Nut
5 2 1543-69 Nylon Washer
6 1 27322BL1 Flow Control Mounting Bracket
7 1 24858 Adjustable Stop
8 1 44950 1/4-20 X 3/4" Carriage Bolt
9 1 43848 Control Arm Grip
10 1 24856BL1 Control Arm
11 1 42347 Torsion Spring
12 2 43661 1/4-20 X 1" Hex Bolt
13 6 1509-69 1/4-20 X 1-3/4" Hex Bolt
14 2 44101 5/32" Cotter Pin
15 1 45431 Control Rod
16 1 69009BL3 Handle
17 1 48934 Hairpin Agitator
18 1 45433 Hopper Assembly
19 2 28486BL1 Support Angle

ref qty part no description
20 1 45504 Impeller
21 4 R19171616 Large Washer
22 1 44566 Torsion Spring
23 1 47063 5/32" Cotter Pin
24 2 45705 Spacer
25 2 47963 Flange Bearing
26 1 28611 1/2" Axle
27 1 68491BL3 Frame Assembly
28 1 69209 Gearbox Assembly
29 1 43501 9/64" Cotter Pin
30 1 28463BL3 Stand Tube
31 2 45702 Wheel
32 2 46699 1/4 X 2" Hex Bolt
33 4 43648 1/4 X 1-1/2" Hex Bolt
34 1 45428 Flow Plate
35 1 23758 Slide Gate Bracket
36 1 28464BL3 Lower Handle Tube

1 45713 Owner's Manual

45-05322

....................................................................5

ENGLISH..........................................................11

DEUTSCH.........................................................12

FRANÇAIS........................................................13

ITALIANO..........................................................14

NEDERLANDS..................................................15

ESPAÑOL.........................................................16

PORTUGUÊS....................................................17

ΕΛΛΗΝΙΚΆ.......................................................18

DANSK..............................................................19

NORSK..............................................................20

SVENSKA.........................................................21

SUOMI...............................................................22

POLSKI.............................................................23

ČEŠTINA...........................................................24

MAGYAR...........................................................25

РУССКИЙ.........................................................26

SLOVENSKO....................................................27



3

2

16

34

25
21

36

3

13

29

28

21

14

31

32

31

24
25

1

13

3

2

1

19

20

18

17

3

13

33

24

30

2

32

33

21

27

26

2

3512

12

13

2
3

11

3

15

1410

9

4

6

2

5

87

2

22

2
3

3 3

3

13

3

2

23

45-05322




